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This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-1
questions. Each question carries 4 marks. Write answer to each question
in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E — question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired

candidates only.
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) Tashkent Agreement was signed

(11) Assassination of Indira Gandhi

(111) Creation of Bangladesh

(1v) Formation of Dravida Munnetra Kazhagam (DMK)

@A) @, 1), (i), (iv) B) (1), v), (i1), (@)
©) @), @), @), (111) D) @), @), (1), (11)
2.  Which event marked the end of Communism in the Soviet Union ? 1

(A) Cuban Missile Crisis

(B) Rise of New World Order

(C) Disintegration of the Soviet Union
(D) Rise in US economy

3. Planning Commission of India was replaced with NITI Aayog because

- 1
(A) 1t had become very old.
(B) it was becoming irrelevant to face the new challenges of development.
(C) it was totally based on Socialist model.
(D) many states were not in favour of Planning Commaission.
4.  Which one of the following is NOT a global common ? 1
(A) Earth’s atmosphere (B) Antarctica
(C) Forests (D) Outer space

2259/5/3 5 P.T.O.
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Name the state from which Chhattisgarh was carved out.
(A) Uttar Pradesh (B) Bihar

(C) dJharkhand (D) Madhya Pradesh

Which one of the following was formed for the planned development of

India, just after independence ?

(A) Election Commission (B) Planning Commission

(C) Shah Commission (D) NITI Aayog

The water treaty signed between India and Pakistan in 1960 is related to
which one of the following rivers ?

(A) Ravi (B) Indus
(C) Satluyj (D) Chenab

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer.

Assertion (A) : Presently the global atmosphere i1s warming up.

Reason (R) : A steady decline in the total amount of Ozone in the earth’s
stratosphere.

Options:

(A) Both the Assertion (A) and the Reason (R) are correct, and the
Reason (R) is the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.

(D) The Assertion (A) 1s incorrect, but the Reason (R) is correct.

" collegebatch.con
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10.

11.

Who among the following emerged as a national hero in opposing the coup

in the Soviet Union in 1991 ? 1

(A) Boris Yeltsin (B) Nikita Khrushchev

(C) Gorbachev (D) dJoseph Stalin

Match the List-I with the List-II correctly : 1
List-1 List-I1

(a) | The first country to liberalise 1its | () | Maldives
economy in the South Asian region.

(b) | Earlier this country had the Sultan as its | (i1) | India
Head of State. Now, it is a republic.

(¢) | Aland locked country. (i11) | Pakistan

(d) | In the conflict between the military and | (iv) | Nepal
the pro-democracy groups, the military
had prevailed over democracy in this

country.

Choose the correct option :

@ () (c) (d)
4 @) @ @) av)
B) @) @ @G Gv)
©€) @) @ 3av) (i)
D) v @ G @

Which one of the following Princely States of India initially opposed

joining the Indian Union ? 1
(A) Baroda (B) Hyderabad
(C) Mysore (D) Gwalior

2259/5/3 9 P.T.O.
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12. i fou e e § <) e i e SR (A) €T HR (R) 6 &9 § 3ifma fopam

13.

14.

15.

16.

17.

18.

2 | 3T &Y 1§ g foreheq o1 == hifv | 1

IR (A) : TG | MY 3 AT & Tgel, AR - ST a&g37i i hivdi § Ihg,
GTTT <h! HHT AT TGt g3 SUSITRI o [o6g TgleH JE L T |

HRT (R) : THEA <l ST, ST F@T, Tt hl dgar § frrae qen mvfit @ e
= T UeT |

Terepeq

(A) AR (A) 3R SR (R) THI &l & 3T HRT (R) AR (A) i Tel ST 7 |

(B) IAMHYA (A) 3R HROT (R) QHI H& &, T HRUT (R) TR (A) 1 et Sme
T

(C) 3R (A) T 7, ifehd RN (R) T4 § |

(D) AR (A) Teld B, W H1ROT (R) T&ET # |

Qg -9 6x2=12

“reit graeT GE1EE” hl ST <hl Teh ICTE0T <hl TE¥AT 8 ¥ iU | 2

YT h TSITceh 3R AT Sfam § 9y 1967 3l Teh HecaqUl 4STd A o g Gl HRUI

Y HIfT | 2
JTAUE TSI o Tohral gl STl bl Ieoid I | 2
T4 1 TR o his &l ATH T8 HIfIT | 2
1985 H gT “ISTe Gwgidn’ <hl fohel I foIvanati =1 9o HiY | 2

TTERT 3R STk FETEAT o qee, fova Toifa w1 fewa @i = e § ¢ R < o
1 fergeroor T | 2
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12. In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer. 1

Assertion (A) : People started protesting against the increase in prices of
essential commodities, food scarcity and growing unemployment before
the fourth General elections in India.

Reason (R) : Failure of monsoons, widespread drought, decline in
agricultural production and serious food shortage caused the problem.

Options :

(A) Both the Assertion (A) and the Reason (R) are correct and the
Reason (R) 1s the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.
(D) The Assertion (A) is incorrect, but the Reason (R) is correct.

SECTION - B 6%x2=12

13. Explain the concept of “Common Property Resources” with the help of an

example. 2

14. Explain any two reasons to consider the year 1967 as a landmark year in

India’s political and electoral history. 2
15. Explain any two advantages of having international organisations. 2
16. Explain any two advantages of Coalition governments. 2
17. Describe any two features of the Punjab Accord 1985. 2

18. Analyse any two reasons as to why issues of environment and natural

resources have become a part of the World Politics. 2

2259/5/3 11 P.T.O.
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20. (a) UIREAM H Gl dliehcd TTid w0 § 3118 fopedl 31 g el sl e
Hifu | 4
FHYET
(b)  “@reh 3 efeqr wfRreTs el o sguef el o qrem & wgdi faehfia i i aE
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=1 GERAT § 35 Y i I 38Uy | 4
HYET
(b) M I I o A, TRl srfeae fova & 3= feedi i gomn o 3tfess
foepfra off | ot oft Eiforera Jomeft # 5o Ut fomivard off, ST 38 mle § 37em
H & | Wt foreel <) et <61 geaien hifva | 4

2259/5/3 12



I ———==—"

19.

20.

21.

22.

23.

2259/5/3

SECTION - C 5x4=20
Analyse any two negative effects of Globalisation. 4
(a) Explain any two main challenges faced by Pakistan in establishing a
successful democracy. 4
OR
(b) “SAARC has taken a major regional initiative in South Asian States
to evolve co-operation through multilateral means.” Justify the
statement with two examples. 4
Describe the events that took place in Sikkim from the time of India’s
independence to its merger with India. 4
Describe any two lessons learnt from the emergency imposed in 1975. 4
(a) “After the disintegration of Soviet Union, India has maintained good
relations with all the new independent countries, but the most cordial
relations are still there between Russia and India.” Justify the
statement with two examples. 4
OR
(b) During Cold War period the US economy was more developed than
the rest of the world. Still the Soviet system had some special
features which distinguish it from the US. Evaluate any two such
features. 4
13 P.T.O.
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Qg - ¥ 3x4=12

24, ez o HEA T 2006 T IS G &M T AT T STSHEU § TG & | HIeA 61
SYG STEIA hieh = fqu MT i o I G

e -
v 2

(a) h1ed H fem@me e AR T’ (S faET) % SMUR W HrEied TEA Sl UgeH #

3Tkt A fAfu | 1
(b) TeA H fe@me T SAfe i ugEE X 3HHT A fAfEn | 1
(c) ORI 3 IS U TTehA0 Rl foha o ? 2

e :

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/3

Frfafea wea e gvaria vl % e, w7 g@n 24 % WA |
2 4x1=4

&% (UNICEF) =1 forqa 9 forfiaT |
SIF T TS 1T 3AT6 9TE T STV ST 2
T TP o AT W Tehe <M = gEanem fop & 2

T Ty A N T T e 6 e s it s 3
gt g 2
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SECTION - D 3x4=12

24. The given cartoon is related to Israel’s attack on Lebanon in June 2006.

Study the cartoon carefully and answer the questions given below :

Seros

(a) Identify and name the organisation whose four Logos are shown in

the cartoon. 1
(b) Identify and name the person shown in the cartoon. 1
(¢c) Why did Israel attack Lebanon ? 2
Note: The following questions are for the Visually Impaired

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/3

Candidates only in lieu of Q. No. 24. 4x1=4

Write full form of UNICEF.

Which organisation became the successor of League of Nations ?

How many states signed the United Nations Charter ?

Which U.N. agency is concerned with the safety and peaceful

use of nuclear technology ?

15 P.T.O.



I ——— " collegebatch.con
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T o BIe-a¢ Tl 3R & <201 H & T <hl GHTHET o foeg 7ai® TR 34
N T IR | GREaTH o« WA TET I o 36 Shed o1 fory fopam | gfeem i
ST AT U1 o THATSH 1 3TAT THS{ o1 T I o e B oo S =nfee. | warel

% ITEhT ] HATH-FHS § TER 9 + Ufcrgriess sfrent s 3R tfepdt et !
I WA 99 H ATfiret 8 o fore Trft o foram |

(25.1)

(25.2)

(25.3)

(25.4)

2259/5/3

1947 ¥ Torfew sfogan & fawem o ww fope RIgTa <1 WTer feharm 77 o 2
A) e a1 g

(B) ST BT 1 fagra

(C) et sgwe 1 fagra

(D) EHHT T fHgld

AT YA & 90 IT-TYTHE i o ?
(A) e 3R, g (B) TER 9
(C) . T (D) @M 3eget TR GH

Taaal o qaY ferfesn sfugan o fopa ot famer off 2

(A) 556 (B) 566
(C) 655 (D) 565
< Tmal o S H 399 9 i E1 6 Toid 8 ?

(A) YRA GEhR FS A1 ol TRITAT ¢ o foTt oam of |
(B) SITTE o MTEeh + T YT o 68T S o el feham om |
(C) <=t famad fafest wrdia amm=a & ueh foagts v 4 rm off |

D) F TEEd T T TRAR T 61 581 941 =g of |
16
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25. Read the passage given below and answer the questions that follow: 4x1=4

The interim government took a firm stance against the possible

division of India into small principalities of different sizes. The Muslim

League opposed the Indian National Congress and took the view that the

States should be free to adopt any course they liked. Sardar Patel played a

historic role in negotiating with the rulers of princely states firmly but

diplomatically and bringing most of them into the Indian Union.

(25.1)

(25.2)

(25.3)

(25.4)

2259/5/3

Which principle was followed for the division of British India at
the time of partition in 1947 ?

(A) Principle of administrative control

(B) Principle of ethnic composition

(C) Principle of religious majorities

(D) Principle of equality

Who was the first Deputy Prime Minister of free India ?

(A) Dr. B.R. Ambedkar (B) Sardar Patel

(C) V.K. Menon (D) Khan Abdul Gaffar Khan

How many princely states were there in British India at the time

of independence ?

(A) 556 (B) 566

(C) 655 (D) 565

Which of the following statements about the princely states is

NOT correct ?

(A) The Indian government was ready to give autonomy to
some regions.

(B) The ruler of Junagadh had decided to be part of
independent India.

(C) Princely states covered one third of the land area of British
Indian empire.

(D) Some of the princely states clearly wanted to become part

of the Indian Union.

17 P.T.O.
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26. In the given Political outline map of India, four states have been marked as
(A), (B), (C) and (D). Identify these states on the basis of the information
given below and write their correct names in your answer book along with
the respective serial numbers of the information used and the concerned

alphabets shown in the map as per the format that follows :

(i1)

(iii)
1v)

2259/5/3
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4x1=4

Sr. Number of the
information used

Alphabet
concerned

Name of the
State

(1)

(i1)

(iii)

(iv)

The state where the first non-Congress government was formed by

E.M.S. Namboodiripad.

The state that belongs to Syama Prasad Mookerjee, founder of

Bharatiya Jana Sangh.

The state to which former Prime Minister Jawaharlal Nehru belonged.
The state related to former Health Minister Rajkumari Amrit Kaur.

POLITICAL OUTLINE MAP OF

INDIA

19

P.T.O.
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e : Frafafea w7 e gfaria wenliE % foe, s g@n 26 % WA W

2 4x1=4

(26.1) 39 TST 1 9 feifgu &l 3.0H. 8. Tegiiurg g1 ugelt - hRE] TR 61

T3 TeRarm T o |

(26.2) WA YoM &I Fateq S1ge o1 AW ferfen |

(26.3)  TaA WRA < Jd TUH HRAR TR TR/ g TTed TeHITaeh gal 1 I
fofEm |

(26.4)  WRA %! & T H TIHAN A SR & Heed T 1 A1 AET |

Qg -8 4%x6=24
27. (a) WIS LA 11 31 7 ? A GLaT shl Hehlvl 3R SATIeh TEUTOSAT o o9 3T
TIE FHIfT | 2+4=6
COC

(b)  F&AT Sl IR GO 1 37 T8 ST | STEt GRaan hl TCoRnTa G & fohegi af
FZeh! ol ISR iU | 24+2+2=6

28. (a) ‘a7 WA hi fagw Hifaq 7 wifayet fava o T 1 AR HE H1 7= ThA 8 17
39 2 o T H IS i S Teh ST | 6

YT

(b) “ara faaufrasiertor 1 afshan 1 T yeet Tmede 3T TG i Hifd =1 weex
foieft T&1 8 |7 39 2F % U1 § D15 i TR doh GITIT | 6
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 26. 4x1=4
(26.1) Name the state where the first non-Congress government was

formed by E.M.S. Namboodiripad.
(26.2) Who was the first Chief Election Commissioner of India ?

(26.3) Name the political party formed by the former first Indian

Governor General of independent India.

(26.4) Name the state which is related to Rajkumari Amrit Kaur, the

former Health Minister of India.

SECTION - E 4%x6=24
27. (a) What 1s meant by human security ? Differentiate between the
narrow and broad concepts of human security. 2+4=6
OR

(b) Explain the meaning of traditional notion of security. Highlight any

two components of traditional notion of external security. 2+2+2=6

28. (a) “The foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with any three suitable

arguments. 6
OR

(b) “India was a staunch supporter of the decolonization process and

’»

firmly opposed racism.” Support the statement with any three

suitable arguments. 6
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29. (a) =T STISHEEAT H AEhIA GUR o SENIG, H o THT TN bl 34 GUR 1 o1d

& firet a7 g i wron ferfew | 6
Y41
(b) T TF F1, Th INRIF TEAN aTeht e ¥ Seereht AT T
TS & sht Tfshart o 9 HIfT | 6

30. (a) 20 &l o 3ifqH T o GRA YA TSHITd H afed fhgl diF SH@ T3 ol
Y hHIT | 6

YT

(b) 1989 % ST & TiEae 3TN hs TENT o si=, SRR aetl H I 310 Tgnid &
fopegi < feigati 1 e <hifsrm | 6
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29. (a) While the Chinese economy has improved dramatically, why has
everyone in China not received the benefits of the reforms ? State
any three reasons. 6

OR

(b) Describe the process of evolution of the European Union from an

Economic Union to an increasingly Political one. 6

30. (a) Explain any three major developments which took place in Indian

politics during the last decade of the 20t century. 6

OR

(b) In the midst of severe competition and many conflicts after 1989, a
consensus appeared to have emerged among most parties. Explain

any three points of consensus. 6
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